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3 point problems (Oéuata 3 uovadwv)

1. The diagram shows a shape made from ten squares of side length 1 cm joined edge to edge.
To Siaypappa deiyvel £Eva oA TIOU KATAOKEUAETAL OO SEKO TETPAYWVA LIE KOG TTAEUPAC 1 cm
EVWLEVO AT AKPO £WE AKPO.

What is the length of its perimeter, in centimetres?
Moo elval To HAKOC TNG TIEPLUETPOU TOU, OE EKATOOTA;

(A)14 (B)18 (C)30 (D)32 (E)40

2. When the answers to the following calculations are put in order from smallest to largest, which
will be in the middle?

‘Otav Ta amoTEAECHATO TWV TTAPOKATW UTTOAOYLOLWY LMAIVOUV OE CELPA OO TO HLKPOTEPO OTO
peyaAutepo, molo Ba gival otn péon;

(A)1+4 2345 (B)12+345 (C)123+45 (D)1234 + 5 (E) 12345

3. Who is the mother of the daughter of Anne's mom's mom?
Mota ival n UNTéPa TG KOPNG TNG KNTEPOG TNG KNTEPAS TNG Avvag;

(A) Anne's sister (n adgAdn tng Avvag)

(B) Anne's niece (n ko6pn TG adeAdng Tng Avvag)
(C) Anne's mother (n untépa tng Avvag)

(D) Anne's aunt (n Bgia tng Avvag)

(E) Anne's grandma (n ytayld tng Avvag)
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4. When Cosmo wears his new shirt properly as shown below, the horizontal stripes form seven
closed rings around his waist. This morning he buttoned his shirt wrongly, as shown on the right.
How many closed rings were there around Cosmo's waist this morning?

Otav o Kwotog popacsl To VEO TIOUKAWLOO TOU OWOTA OMwE PpaiveTal mMapoKATw, oL opl{OVILEG PLYEC
oxnuotilouv entd kKAslotd SaxtuAidla yUpw amo Tn Héoh Tou. INUEPO TO MPWi KOUUNMWOE TO
TIOUKAULOO Tou AavBaopéva, onwc dpaivetal ota Se€ld.

Moéoa kAelotd SaxTuALSLA lxe YUpW Ao TN KON Tou Kwota oruepa To mpwi;

S S

(A)o (B)1 (92 (D)3 (E)4

5. In the calculations shown each letter stands for a digit. They are used to make some two-digit
numbers. The two numbers on the left have a total of 79. What is the total of the four numbers on
the right?

YToug umtoAoyLlopoug ou epdavifovral, Kabe ypappa avitmpoowrnelel Eva Pnodio.
XpnoluomolouvTalL yla Vol oxXnUatiotouyv kamotot Supridlot aptbuoi. Ot dVo aplBuol ota aplotepd
£xouv aguvoAo 79. MNolo eivat To cUVOAO TwV TEcoAPWVY apLlOUWV ota SeLa;

AD

FCD

AB +AB
+CD +CB
79 ?

(A) 79 (B)158  (C)869 (D) 1418  (E) 7979

6. The sum of four consecutive integers is 2. What is the least of these integers?
To aBpolopa tecodpwv dladoxikwy akepaiwv eivat 2. Moo givat To Alyotepo and autoug Toug
OKEPALOUG OpLOUOUG;

(A)=3 (B)=2 (()-1 (D)0 (E)1

7. The years 2020 and 1717 both consist of a two-digit number repeated twice. How many years
after 2020 will the next year be which has this property?

Toa £€tn 2020 ko 1717 amotehovvtal and Suo Supridloug aptbuoug mou enavoiappavovtal duo
dopéc. Noca £tn petd to 2020 Oa sival To EMOEVO £TOC TTOU €XEL QUTH TNV LBLOTNTA;

(A)20 (B) 101 (C) 120 (D) 121 (E) 202
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8. Mary had ten pieces of paper, some of which were squares, and the rest were triangles. She cuts
three squares diagonally from corner to corner. She then counted the total number of vertices of the
13 obtained pieces of paper, which came to 42 vertices. How many triangles did she have before
making the cuts?

H Mapla eixe 6€ka KOUPATLA XAPTLOU, LEPLKA QIO TA OTtola ATAV TETPAYwWVA, KoL TA UTIOAOLTIA NTAV
Tplywva. KoBel tpia tetpdywva Slaywvia amnod ywvia og ywvio. ITn CUVEXELX LETPAEL TOV GUVOALKO
oplBud kopudwv Twv 13 Tepa)lwV XapTLou, kot Bprke 42 kopudEég. Mooa tpiywva eixe mpLv KAVEL TO
Ko uo;

(A)8 (B)7 (C)6 (D)5 (E)4

9. Martin made a kite by cutting a straight wooden pole into 6 pieces. He used two of them, of
lengths 120 cm and 80 cm, as the diagonals. The remaining four pieces connected the midpoints of
the sides of the kite as shown. How long was the pole before it was cut?

O MapTLv €kave €va XOPTAETO KOBovTag £vav euBUYPAULO KOVTAPL OE 6 KOUUATLA. XpNnOLUOoTIoinoe
SU0o amo autd, pnkoug 120 cm kat 80 cm, w¢ Staywvieg. Ta UTIOAOLTIA TECOEPA KOUUATLO CUVOEOUV
TO Heoaia onpeia Twv MAEUPWY TOU XAPTAETOU OTwG daivetal. MAoo HAKOG lXE TO KOVTAPL TIPLV TO
KOYeL

(A) 300 cm (B) 370 cm (C) 400 cm (D) 410 cm (E) 450 cm

10. In the given grid of squares with side length 1, four points are marked. By forming a triangle
using three of the given points, what is the smallest area that can be obtained?

210 6€60UEVO TTAEY LA TETPAYWVWY E LAKOG TAEUPACG 1, onuelwvovTal TEcoepa onpela. Me to
OXNMOTLOMO €VOG TPLYWVOU XPNOLLOTIOLWVTAG TPLA o Ta CUYKEKPLUEVA ONELQ, TTOLO €lval To
MLKPOTEPO €UPASO TOU UMOPOUE VAL EXOULE;

.
(A) {1/2} ®{1} O (D) {2}  (E){5/2}

2
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4 point problems (9éuata 4 puovadwv)

11. Helen wants to spend 18 consecutive days visiting her Grandma. Her Grandma reads her story
books on story days Tuesday, Saturday and Sunday. If Helen wants to spend the greatest amount of
story days with her Grandma, on which day of the week should she start her visit?

H EAEvn B€AeL va epaoel 18 cuveXOUEVEG LEPEC OTNV EMIOKEPN OTN ylayLld TG. H ylayld tng
Slopadel ta Lotopka tng BLBALa oe nuépeg Lotopliag tnv Tpltn, To ZapPato kKat tnv Kuplakh.

Av n EAEvn B€AeL va TepAOEL TO HEYAAUTEPO TTOCO NUEPWV LOTOPLOG LIE TN YLAyLA TNG,

o€ mola NUEpa TG efSopnadag MpEMeL va EeKLVAOEL TNV eMioken TNG;

(A) Monday (B) Tuesday (C) Friday (D) Saturday  (E) Sunday
(A) Aeutépa  (B) Tpitn (C) Napaokeun (D) zaBBato  (E) Kuptakn

12.If a, b, c and d are integers satisfying ab = 2cd, which of the following numbers could not be
the value of the product abcd?

Eav ta a, b, c kat d eival aképalol mou AnpoUv th oxéon ab = 2c¢d, MOLOG Ao TOUC MOPAKATW
aplBpouc ev Ba prmopouae va elval n TN Tou ywvopévou abcd;

(A) 50 (B) 100 (C) 200 (D) 450 (E) 800

13. The shortest path from Atown to Cetown runs through Betown. Walking on this path from
Atown to Cetown we would first find the signpost shown on the left. Later we would find the
signpost shown on the right. What distance was written on the broken sign?

To KOVTLVOTEPO HOVOTIATL oo To Xwpio Atown oto Cetown Slamepva pécw Betown.

Mepnatwvtag o€ auTo To PoVOmATL amo to Atown oto Cetown Ba Bplokape pwTta TNV Tvakida mou
dalvetal ota aplotepd. Apyotepa Ba Bpouue TNy Tvakida mou daivetal Se€La.

Mola amoéoTacn ATAV YPAUUEVN TIAVW OTh OTIOOUEVO TILVOKLSQ;

(A) 1 km (B) 2 km (C) 3 km (D) 4 km (E) 5 km

14. An isosceles triangle has a side of length 20 cm. Of the other two side lengths, one is
equal to 2/5 of the other. Which of the following values is the perimeter of this triangle?
‘Eva LoOOKEeAEG Tpilywvo €xeL TAEUPA prKoug 20 cm. ATto Ta GAAa SU0 URKN TTAEUPAC, TO Eval
givat loo pe ta 2/5 tou dAlou. Mota amo TIG MAPAKATW TLUES ElvaL N TIEPIUETPOC AUTOV TOU
TPLYWVOU;

(A) 36 cm (B) 48 cm (C) 60 cm (D)90cm (E) 120 cm
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15. In each of the nine cells of the figure shown a number shall be written so that the sum of the
three numbers on each diameter is 13 and the sum of the eight numbers on the circumference is 40.
What number must be written in the central cell?

Ye KAOe éva oo Ta eVVvEA KEALA TOU OXNHOTOC o daivetal, évag aplOpog npenel va ypadtel £Tot
WOTE TO ABpOoLoUA TWV TPLWV OPLOUWVY Ot KABe SLApETpO eival 13 Kal To ABPOLOUA TWV OKTW
aplBuwv otnv nepldépela eivat 40. Molog aplOUdC MpEMeL va ypadel 0To KEVTPLKO KeEAL TTOU £XEL TO
cUUBoAO ?;

(A)3 (B)5 (C)8 (D)10 (E)12

16. Masha put a multiplication sign between the 2™ and 3™ digits of the number 2020 and noted
that the resulting product 20 - 20 is a square number. How many numbers between 2010 and 2099
(including 2020) have the same property?

H MdpBa £éBale £va cUpBoAo moAamAactacpol pHetafl Twy 2% kat 3% Pndiwv tou aplBuol 2020
KoL onueiwoe OtL To ywopevo mou mipokuTtel 20 - 20 sival évog TeTpaywvog aplBpoc.

Moéoot aplBpol petaty 2010 kat 2099 (oupmneplapBavopévou tou 2020) €xouv TnV dLa L8LOTNTA;

(A)1 (B)2 (€3 (D)4 (E)5

17. Two squares of different size are drawn inside an equilateral triangle. One side of one of these
squares lies on one of the sides of the triangle as shown. What is the size of the angle marked by the
qguestion mark?

AUO TeTpaywva dtadopeTtikol peyéBoug oxedlalovtal HEoa o€ £va LOOTIAEUPO Tplywvo. H pia
TIAEUPA EVOG A0 AUTA TA TETPAYWVA PplokeTal og pia amo TG MAEUPEG TOU TPLYWVOU, OTWG
daivetal. Moo sival to péyebog TNG ywviag mou GEPEL TO EPWTNUATIKO ? ;

(A)25°  (B)30° (C)35°  (D)45°  (E)50°
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18. Luca began a 520 km trip by car with 14 litres of fuel in the car tank. His car consumes 1 litre of
fuel per 10 km. After driving 55 km, he reads a road sign showing the distances from that point to
five petrol stations ahead on the road. These distances are 35 km, 45 km, 55 km, 75 km and 95 km.
The capacity of the car's fuel tank is 40 litres and Luca wants to stop just once to fill the tank.

How far is the petrol station that he should stop at?

O AouUkag Eekivnoe éva Tagidt 520 YAW. pe autokivnto pe 14 Aitpa kavoipou otn dsfapevn
Kouolpuwy Tou autokwntou. To autokivnto Tou katavaAwvel 1 Altpo kauvoipou ava 10 XIALOpEeTpa.
Metd amo 55 yopetpa odnynong, StaBdalel éva 08IKO orjpa ou SelXVEL TIC AMOCTACELS OTto TO
onpeilo auToO TEVTE MPATAPLWY KAUGIUWY 0To §popo pnpootd. OL amooTAoelg QUTEG elval 35
xwopetpa(km), 45 xthopetpa(km), 55 xthwopetpa(km), 75 xthopetpa(km) kat 95 xtAwopetpa(km).
H xwpntikotnTa TnN¢ Se€apevn ¢ KAUGIOU Tou autokvATou givat 40 Aitpa kal o AoUkag B€AeL va
OTOMATACEL HOVO pia popad yla va yepiosl tn Se€apevr). Noco pokpld eivat to Beviivadiko mou
T(PETEL VA OTAOTIOEL,

(A) 35 km (B) 45 km (C) 55 km (D) 75 km (E) 95 km
19. Let 17x 4+ 51y = 102. What is the value of 9x + 27y ?
EFotw 17x+ 51y = 102. Nowa n T tou 9x + 27y ;

(A)54 (B)36 (C)34 (D)18 (E)The valueis undetermined(H twun eivatl anpoodidplotn)

20. A square shaped stained glass window of 81 cm? is made out of six triangles of equal area (see
figure). A fly is sitting exactly on the spot where the six triangles meet. How far from the bottom of
the window is the fly sitting?

‘EvaL TETpaywvo uooypddnua mapdbupo 81 cm? amoteleitat and £€L piywva ioou eppasdol (BA.

Ewkova). Mia poya kaBetot okplPwe oTo onpeio 6mou cuvavtiouvtal ta £€L Tpiywva . Mdoo pokpLd
amo To KATW PEPOC Tou mapabupou Bpioketal n poya;

_

(A)3cm (B) 5cm (C)5.5cm (D)6 cm (E) 7.5 cm

5 point problems (9éuata 5 povadwv)

21. The digits from 1 to 9 are randomly arranged to make a 9-digit number. What is the probability
that the resulting number is divisible by 18?

Ta Ynoia ano 1 €wg 9 eival Tuxaia SlateTayueva yla va kavouv evav 9drdlo aplbuo.
Mota eivat n mbavotnta o aplBpog mou MpokUTTeL va Statpeital pe 18;

(A)1/2 (B) 4/9 (€)5/9 (D)1/3 (E)3/4
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22. A hare and a tortoise competed in a 5 km race along a straight line. The hare is five times faster
than the tortoise. The hare mistakenly started perpendicular to the route. After a while he realized
his mistake, then turned and ran straight towards the finish point. He arrived at the same time as the
tortoise. What is the distance between the hare's turning point and the finish point?

‘Evag Aayog kot pla xeAwva avtaywvilovrat og aywva 5 yAp(km) kotd pnkog piag eubeiag ypappng.
O Aayog elval mévte popEg ypnyopotepog amd tn xeAwva. O Aayog apxlos AavBaopéva va TpEXEL
KaBeta npog tn Stadpoun. Metd and Aiyo cuveldntomnoinoe to AdBog Tou, yUpLoe Kal €Tpefe
KoteuBeiav npog To onpeio teppatiopol. Edtace TNy (Sla otiyur pe Tn XeAwva. Mota sival n
anootaon Petafl Tou onpeiou emotpodrg Tou AayoUl Kol Tou ohUelou TEpUATIOUOU;

(A) 11 km (B) 12 km (C) 13 km (D) 14 km (E) 15 km

23. There are some squares and triangles on the table. Some of them are blue and the rest are red.
Some of these figures are large and the rest are small.

We know that

1. If the figure is large, it's a square;

2. If the figure is blue, it's a triangle.

Which of the statements A--E must be true?

YTApXOUV HEPLKA TETPAYWVA KoL Tpiywva oTo Tparmell. Oplopéva amo autd sival mAe Kal to
umoAouta sival KOKKLvo. MepLKa armod auTtd Ta oxnuata eivol peyaAo Kot Ta urtoAouta eival ULKpA.
Z€POUpE OTL

1. EGv o0 aplBuog eival peydAog, eivat £va TeETpaywvo.

2. Eav to oxnua sivat prmhe, eivat éva tpiywvo.

Moteg amd tic SnAwoelg A - E mpénel va elvol OwoTEG

(A) All red figures are squares(OAa To KOKKLVOL OXNLOTA Elval TETpAywvQ)
(B) All squares are large(oAa Ta TeTpaywva givat peyaia)

(C) All small figures are blue(oAa Ta pikpd oxnpato sival UmAe)

(D) All triangles are blue(oAa ta Tpiywva givat pmAe)

(E) All blue figures are small (6Aa ta pmAe oxApaTa sival pKpa)

24. Two identical rectangles with sides of length 3 cm and 9 cm are overlapping as in the diagram.
AUO TtavopoLotuTIa opBoywvLa e TTAEUPEG URKOUC 3 cm Kot 9 cm aAAnAemikaAUntovtal Omwe oTo
Saypappa.

What is the area of the overlap of the two rectangles?
Mota sival n meploxn tng emkaluyng twv SVo opBoywviwy;
(A) 12 cm? (B) 13,5 cm?  (C) 14 cm? (D) 15 cm? (E) 16 cm?
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25. Kanga labelled the vertices of the square-based pyramid using 1, 2, 3, 4 and 5 once each.

For each face Kanga calculated the sum of the numbers on its vertices.

Four of these sums equalled 7, 8, 9 and 10. What is the sum of the fifth face?

O Kwotag onuadePe tig KopudEC TNE TETPAYWVLKNE TUpApidag xpnowomnowvtag 1, 2, 3, 4 kat 5 pia
dopa o kabéva. MNa kabe £6pa o Kwaotag umtoAdyLoe To dBpolopa Twv apLlBUWY Twv Kopudwy TNC.
Téooepa and autd ta abpolopata Atay 7, 8, 9 kat 10. MNolo sival to abpolopa tng MEUNTNS €5pag;

(A)11 (B)12 (C)13 (D)14 (E)15

26. A large cube is built using 64 smaller identical cubes. Three of the faces of the large cube are
painted. What is the maximum possible number of small cubes that have exactly one face painted?
‘Evag peyalog KUPBoC ival XTLIOPEVOC XPNOLUOTIOLWVTAG 64 LKPOTEPOUC looug KUPouUC. Tpeig £6peg
TOU peydAou KUBOU elval xpwHATIOUEVEC. MMoLOC lval 0 PEYLOTOG SuVATOG ApLBOS HIKPWV KUBWVY
TIOU £X0UV aKPLBWG ULo £6pa XpWUOTIOUEVN;

(A)27 (B)28 (C)32 (D)34 (E)40

27. In each of the squares, a number should be written so that the sums of the 4 numbers in each
row and in each column are the same. What number goes into the shaded square?

Ye KAOe éva amod Ta TETPAYWVO, Evag aplOuog mpénel va ypadtei £T0L wote ta abpoiopata Twy 4
aplBuwv og kABe oelpd Kal o€ kKABs oTAAN va elval Ta idta. Molog aplBuog MAEL OTO OKLOOUEVO
TETPAYWVO;

1 6|3
21218
7| |4

7

(A)5 (B)6 (C)7 (D)8 (E)9
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28. Alice, Belle and Cathy had an arm-wrestling contest. In each game two girls wrestled, while the
third rested. After each game, the winner played the next game against the girl who had rested.

In total, Alice played 10 times, Belle played 15 times and Cathy played 17 times.

Who lost the second game?

H Alice, n Belle kat n Cathy gixav éva aywva-maAng. e kaBe nawyvidt SUo kopitola maAevouv, VW
1O Tpito Eekoupaletal. Metd amod kABe TavidL, o VIKNTNG aywVIioTNKE OTOV EMOLEVO aywVa EVAVTLA
OTO Kopitol mou eixe Eekoupaotel. ZuvoAka, n Alice aywviotnke 10 dopEg, n Belle émaie 15 popeg
kot n Cathy €naite 17 dpopég. Molog £xace to SeUTEPO aywva;

(A) Alice

(B) Belle

(C) Cathy

(D) either Alice or Belle could have lost the second game(n Alice ) n Belle Ba umopouoav va gixav
XAo£L To SeUTEPO aywva)

(E) either Belle or Cathy could have lost the second game(n Belle r} n Cathy 8a pmopouocav va gixav
XAo£L To SeUTEPO aywva)

29. A zig-zag line starts at the point A, at one end of the diameter AB of a circle.

Each of the angles between the zig-zag line and the diameter AB is equal to a as shown.

After four peaks, the zig-zag line ends at the point B. What is the size of angle a?

Mua ypoppn {yk-Zayk Eekva amo To onueio A, oto éva akpo tng Stapétpou AB evog kUkAou.
KaBe pia amo tig ywvieg petalt tng ypapung {yk-layk kat tng SLapetpog AB LoouTtal pe a Omwe
dalvetal. Metd ano téooeplg KOPudES, N ypaupn {yk-{ayk TEAELWVEL 0TO onpeio B.

Moto ivat To péyebog tng ywviog a;

(A) 60° (B) 72° (C) 75° (D) 80° (E) Another answer(Muwo. dA\n amdvtnon)

30. Eight consecutive three-digit positive integers have the following property: each of them is
divisible by its last digit. What is the sum of the digits of the smallest of the eight integers?

Oktw Stadoyikol Tpuprdlol Betikol aképatol £xouv TV akOAouBn 8LoTnTA: KaBéva amd auta
Slatpeital pe to tedeutaio Pndio tou. Noto sival to abpolopa Twv Pndiwv Tou PLKPOTEPOU ATIO
TOUG OKTW QKEPALOUG;

(A)10 (B)11 (C)12 (D)13 (E)14

10



